
Uptrutruqpnrp;nrtr N 2

<< r\bq-kU6UqaP-2021/35 6ur&!urqpn{ qtrnLdbbpfr hlbt4mpnLulfrL hurrlurQurpqh (ARMEPS) d[2ngn{

f1b!rnpnLu4frL ru6nrp4nr{ (u.r.;uruLnubfr (u.rtrpurqbtnnrp.;urtr qbuuQurtr b!tudnrrntrhp[ lanU[mb[ lupfpLbpft
hurrlup 4rupuLlur2urpbpfi dbnppbptlutr qtrurhumnrl hutrdLurdnrln{fr L[umft

p. bptrutr

Uurutrul1gnrd hht'

S[qpuL albunpnuluLp h

Purpurlutrp:

0B 4bllmbrlpbpfi 2021 p.
durtlp 10:00

qLurhurmnrl hrutrdLudnqnrlfir Lurfuuquh' lJuq4ur gurpuqbmlutrp, urL4u.rdtrbp'

prxnLnnr[un' Uqupmul; (tupnrplnLtrlutrp: Lfrumfrg pugurlurlnul hp QnLfmut

qtrr.uhutnnrl huLdtrudnrlnrlfr

r{bp2Lurdudtabun[L htulrn btr

OnuUtunq
(( albQ-EUdUalOP-2021/35 6urtUruqnn4 qtrilurb Ebpugul.lunqh humbnh prugrlub. qtrurhumrlutr tr

urrfthnrhfurtr rftuuhtr

trur[uu.rqurh Uurq4tu 9urpuqbmlurtrp trfrutnp hurlLnr.upurpbg purg{u6: (ulmbpfr

trbp!u1 ugpbl trbppnhfr2ul duuUuqhgL bpp.

2l< l.IuruLu!gI uL{uLnLLIp, hu.rugbtr

(UU( L{6upnq)

lutr (UU<

1{6upn4)

9Lu4[L urnurgurpl.l

/(( 4pud urnuLg

uu<

Lur[uurhur2{tu1[tr

qht'

111\pw[ I
1

urlp Pbup <DuppLbp> UalC (UU( q6upnn)

425000 474000

2 750000 850000

3 130000 125670

(urlunbpfr nrunrdLuruftpnrplurL urp4lnrLpnul hruLdtrurdnln{p qtupqhg, nfi pnlnn luqhu:pudfiULbpft
rluuntl urnur2up!{ur6 qLbpp qbpurqurtrgnLd btr qltutrtut{nptlu6 qtrbn1, npfr qum6urnn{ rluuLul4gft hulmp

dhndtlbr b:

<ur2{h tu ntrhln tl {bp nqpl ru p h rutrib rudn4n r{p n p n2hg'

- ptr pr.ug u.rl1 u pqp h ur1 m ru p ur p b1 1!ur1 tug ur6:

Ctr4nLLrlbl I npn2nLd' [1nr1J 2, qbrl 0:

9L ur hurm n 11 hutrdLurdnqnqh

Lru[uuquh
Uurq4ur I u p urqbr.n; tutr

S[qpuL lbmpnulutr

U q tu p m ur t4 (ur p n rp1 n rL1 utr

uL4turltrbp

purnLnnrqurr


